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1
Introduction
PhysCellIdRange is used in csg-PhysCellIdRange and IntraFreqBlackCell List in SIB4, InterFreqBlackCellList in SIB5, BlackCellsToAddMod in MeasObjectEUTRA and MeasSubframeCellList-r10 in MeasSubframePatternConfigNeigh-r10 in MeasObjectEUTRA.

And the definition in ASN.1 is as following:

PhysCellIdRange information element
-- ASN1START

PhysCellIdRange ::=



SEQUENCE {


start






PhysCellId,


range






ENUMERATED {











n4, n8, n12, n16, n24, n32, n48, n64, n84,











n96, n128, n168, n252, n504, spare2,











spare1} 




OPTIONAL
-- Need OP

}

-- ASN1STOP

-- ASN1START

PhysCellId ::=





INTEGER (0..503)

-- ASN1STOP

From the current specification description, it is not clear on what happes in case the configured range goes over the maximum PhysCellId bound and this contribution is trying to clarify the point.
2
Discussion
Unlikely for UMTS, the range of PhysCellIdRange in LTE signalling is discrete numbers.

-- ASN1START

PhysCellIdRangeUTRA-FDDList-r9::=

SEQUENCE (SIZE (1.. maxPhysCellIdRange-r9)) OF PhysCellIdRangeUTRA-FDD-r9

PhysCellIdRangeUTRA-FDD-r9 ::=


SEQUENCE {



start-r9






PhysCellIdUTRA-FDD,



range-r9






INTEGER (2..512)



OPTIONAL
-- Need OP
}
-- ASN1STOP

Thus for instance, if network has to black list 10 PCI, one natural way of signalling is to set start = 495 and range = n12. And as PCI is running until 503, UE just blacklists as many as PCIs which can be blacklisted.
As the PCI is a limited resource considering the complicated deployment scenario, it is desirable that network can blacklist PCIs which are really needed. 
Proposal 1: It is proposed to confirm that start (i.e, starting PCI) + range-1>503 in PhysCellIdRange is a valid signalling and to clarify UE shall blacklist as many PCIs as it can in the 36.331.
Also it is not clear what happens if the range is overlapped.

So for instance if network wants to black list PCI = 10..19, one way is to signal two sets of PhysCellIdRange as following:

PhysCellIdeRange#1:

Start = 10, range = n8

PhysCellIdeRange#2:

Start = 16, range = n4
Proposal2: It is proposed to confirm that overlapping signalling in the PhysCellIdRange is a valid signalling and to clarify UE shall blacklist according to the superset of each list in the 36.331.

3
Conclusion and Proposals
This contribution discussed the unclearity of PhysCellIdRange signalling and proposes followings:
Proposal 1: It is proposed to confirm that start (i.e, starting PCI) + range-1>503 in PhysCellIdRange is a valid signalling and to clarify UE shall blacklist as many PCIs as it can in the 36.331.

Proposal2: It is proposed to confirm that overlapping signalling in the PhysCellIdRange is a valid signalling and to clarify UE shall blacklist according to the superset of each list in the 36.331.
